O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

7HIHVEIP pQ\HV] i PRIiV

ZHIHVEIPPO\
-\WQp 6]DEy 7Hip] ODILIG
-lWQp B]DEy 7HUp] ODILG H Y +yQDS 6Dl &VRSRUI EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
yNDL X s
+8 0$57219E6E5 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
1$(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] i PROIV
6101
+v0ODS
+8) (85
I
GIHPPNHV pUpNHIpY 15 6Dl IXIDIpN
13 6D 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
C 6DIil (WD ~XIDIpN
%( &VRSRUI BBBBBBBBBRBBBBE BBBBBBBBERE BBBBBBBBBR
_UTHIpY
6liIXV]
+DYL IHIHVIIP O\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDipN
)(&6(5 (O(6( €9 3 <%z )* *5%: (
RNKH) =VX]VDQQD $C  *$: > *5% = (
“RNKH) =VX]VDQQD $C *$:z )* *5% 1 (
.(5.86.Ele 9EO, *<g5*<, 3 *$- )* *5% = (
.(5.86.5 &65%$ $C  *$:z )* *5% 1 (
OE7e =68=6$11%$ .$7$/,1 3 *$- * *5% = (
OE7e =68=6$11$ . $7$/,1 3 rpz * *5% 1 (
OE7e =68=6$11%$ .$7$/,1 $C  *$- * *5% = (
1<2/&%$61e +259E7+ &6,//$ $C  *$:- ) *5%:(
1<2/8%6 (512 $C  *$: > *5% = (
YRUDRP ,, +8)
$IQIV] . [IG|S  6JHIJEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
&ViS /iV]yQp
&6E30T1,.$ 3 rpr ox *5% = (
&6E3 OT1,.$ 3 *$: = *5% - (
9DIGD SITQp $C  *$: > *5% = (
9DIGD $iQp $C  *$: > *5% - (
&IXSSRQ " V6
/2518=-8"7 3 xmzo- *5% = (
*DEHIFY $QQD ,
*$%(/,&6 7SOE6 3 - *5% = (
6]DEy Ll $C $(UB3RIK $(*21

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

_LWQp 6]DEy 7HUp] ODILG



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~Ii
$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
6]DEy . lilL 3 S(%63RIK $(*21

*DEHILFV 3pIHU
*$%(/,&6 3e7(5 3 - - *5% = (

*DEHIFV 7DP 1V

*$%(/,86 7$0E6 3 *$z % *5%: (
*$%(/,&6 7$OE6 3 *$z % *5$ = (
*$%(/,86 7$0E6 3 *$z % *5%: (
*$%(/,&6 7$OE6 3 *$z % *5$ = (
*$%(/,86 7$0E6 3 *$z % *5%: (
*$%(/,&6 3e7(5 3 *$z )% *5$ = (
*$%(/,86 7$0E6 3 *$z % *5%: (
*$%(/,&6 7$OE6 3 *$z )% *5$ = (
*$%(/,&6 3e7(5 3 *$z % *5%: (
*$%(/,&6 3e7(5 3 *$z % *5% = (
*$%(/,&6 3e7(5 3 *$z % *5%: (
*$%(/,&6 3e7(5 3 *$z % *5% = (
_RYiFV ZiV]lyQp 3 *$:- " *5%: (
-RYIFV 7iV]lyQp 3 ot - *5%: (
_RYiFV ZiV]lyQp 3 *$:- " *5%: (
-RYIFV 7iV]lyQp 3 ot - *5%: (
-(1(< /E6=/T 3 *$z * *5%: (
*DUDPV]HIL ZiV]

9HUVDILY ,QIHUQDILRQD! 6% 3 8130* 81,21
= XQDVINU 3RIVIIURIINaUN 3 8130* 81,21
+$5.$ /E6=/T 3 *$z ot *5%: (
-RYIFV 7iV]lyQp 3 *$: - *5%: (
+XV] iU +DIQDIND

.(&6.e61e -EO%25 *<gl*<, 3 xmoox *5%: (
,SDFV ZiV]ly

3586 /E6=/T1e 3 *$zo* *5% = (
3$&6 /E6=/T1e 3 *$z * *5%: (
3586 /E6=/T1e 3 *$zo* *5% = (
3$&6 /E6=/T1e 3 *$z * *5%: (
LW 1ylD

%25=E6le 6=3%$", -8",7 3 Tz % *5% = (
+259E7+ %E/,17 3 *mco- *5%: (
%$/E=6 $1"5($ 3 *$z )* *5%: (
-RIRVD (UYIQ -i

6ilN] ] $QUD $C *$: )* *5%: (
- RIRVD +HQULHIl

(. (7(=2/7E1 3 xmoox *5%: (
.2/26%$ +(15,(77$ 3 xmoox *5% = (
%,771(5 )$11, 3 <z * *5% = (
.5$86= 3(75% 3 *$zo* *5% = (
.5$86=1e /E1&=26 *$%5,(// 3 *$z * *5%: (
6$//$< %(51$" (77 3 *$zo* *5% = (
.2/26E1e +259E7+ €9$ 3 *$z = *5%: (
GilN]]L $QUD 3 *$z o* *5%: (
6ilN] ] SQUD 3 *$z * *5%: (
-RIRViQp +RUYil

52=6 %$/E=6 3 xmoox *5%: (
52=6 %$/E=6 .25 *"- x *5%: (
.2/26% (59,1 3 *$z = *5%: (
.2/26E1le +259E7+ e9% 672 *$:z = *5%: (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIPpQ\HIV] i PRIV _LWQp 6]DEy 7HUp] ODILG



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
-RVIHJIQp *i0 $
+259E7+ 7$0$5% 3 *$z )* *5% - (
OpV]ilRV OyQIND
0$5.T *E%251e 3 *$- * *5% = (
1HPHV $QQDPiUD
1(0(6)(BA& 3 *$z * *5% - (
1pPHIK VIYiQQp
62/7 $5%1.%$ 3 *$- * *5% - (
6=(0(6 *E%25 ) (5(1&1le 3 *$- * *5$ = (
0,./16 *$%5,(//$ .25 *To o* *5% - (
3DSS eYD
“8%21,&6 0$5,$11$ 3 Sl ) *5% - (
1$*<le 6=,/9% .$7%/,1 3 *$z )* *5$ = (
6IHIQQp *RGy EJ
6=(/(6,05( =2/7E1 3 *$z * *5$ = (
6IRIED -HQRQp
+(56,86 *5e7$ 3 *$- * *5$ = (
G]HLIHUK -y VHI
6=3$%1 6&+0,"7 .$7%$/,1 (5, 3 *w o ox *5$ = (
DE%EL$1,.T $C  $(%63RIIK $(*21
DE%EL$L,.T 3 $(%UB63RIIK $(*21
7LPiU 1yUD
02/1E5 -E126 3 o % *5% = (
%(1&=(C OT1,.$ 3 Sl ) *5% - (
OpKHY 3DINRYLFV . UV]IQD $C  *T:z * *5$ = (
9DUJID 9IRIHIID
9$5*$ 9,2/(77$ 3 * o ox *5$ = (
9$5*$9,2/(77$ 3 *$- * *5% - (
9$5*$ 9,2/(77$ 3 *$- * *5$ = (
9$5*$9,2/(77$ 3 *$- * *5% - (
gVV]HVEIHI pUipN

JRUIDIRP , (85

$iQV] . JUIG|S 6]HU]EGE (I\VpJ  7ISXV  7DWD  7DUIDP  %LJW W ~XIDOpN

DRUIDIRP ,, (85

$IQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUIDP %IV LV ~XIDOpN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

_LWQp 6]DEy 7HUp] ODILG



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~I
$IHQV] . IWG|S  6]HUJEGE (3\VpJ  7ISXV  7DWID  7DUDP %MWLV -XIDIpN
&VIH -iQRV
&6,5( -E126 3 *$: (" *5% 2 (
-RIRVD -+HQUHIN
1e0(7+ $/i= 0(58&e " (6= 3 *$: (= *5% 2 (
1pPHIK VIYiQQp
6=(0(6 1,.2/(77$ 3 *t: *5% 2 (

gVV]HVLIHIN pUipN

$] HIV] i PROi VWD) NDSFVRIDIRV UHNIDP i FLyNDI NpUl N tUiVEDQ D] HIV]i PROiV NpTKH]YplHIpi [0 Vi PtRIN - KpIHQ EHI 0 D] O,& WRGiEDQ tHDGQL

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVHIPpQ\HIV] i PRIV

_LWQp 6]DEy 7HUp] ODILG



